NFIVIVEEE

B BRAAIER THS8H 9204y
7THOH 9104y

1 BrHEEBOMAE

HBIRE HoRkE BIRE HARE BoRA
123 —) P — EWH EE — E R — EE Em - B BN — &6
6578 —] B — W R — B3 BW — S R — 6 BmE — HE

A= Ik B= #EH Cc= BEP D= WHE E= HE

2 BFEABOHEE
()
57 B 1 HHE 1
9 11
$5HE 4 7 B 3
1 3
P 4 — 13 15 L #mp oy
o2 gl 2
5 7
B 2 19 B2
17 18
$5RE 1 7 B 2
6 8
Bm o3 P03
HE 83— 14 16 — 5 3
2 4
7 B 4 ———— A 4
10 12
B 1 Bmol

A= IR B= %W Cc= B} D= WHiHE E= HE



(B)

IR 1 ———— Wi
15 8
Wit 5 —— ———— "% 5
1 19
¥ 4 ————— ————— @ 4
23 9
W 3 ————— I
2 25
e 4 ———— D— 1
16 10
ek 6 —— L
3 20
Bm 2 ——— ———— IR 5
11
W 1 —— 29 — &M 2
4 27 28
SP 6 ——— —— W 2
17 12
B3 S 6
5 21
w2 ————— R 3
24 13
Ik 4 —— X
6 26
$hiE 6 ——— —— ¥ 3
18 14
B 5 ————— 22 I 5
7
BP1— 21

A= IR B= #H Cc= B} D= #HHE E= HE

3 XFHFEROMHE A

BHlAE  F2ls F3RE FARE oA
Fa- 5 —h B — BH S - RSP — S BHE - EE AE - R
H9- 5510 —h BHEH — falE B — EE EH - R P - R BH -

a= BP b= HEHc= HEI= HE = KB



4 ZFEABROHEEHE

()
S5

SnlE
HEREY
5 B
e
HEREY

HH

(B)

g
5z .
ERS

=

SnlE
5 B

L=

Fr e
S
(ke s

W DN NN W

— N N R

= W W

10

11

8
1
) M - S—
9
9
3
a= BP b= BEBHc= WHHEdId= HE e=
9
1
13
5
g T— — P
6
14
9
10
a= BP b= ZHc= WHHEd= HE =

g B
11
15
7
8
16
12

i B

HERES
5z B
=t
P
e
=t
P
5z B

k)i
S5
=
5z .
ERS
5P
(ke
5z .
e
2

NI ORI

W W N NN W w W

—_



